m Parts Breakdown 6914D
JeycLt

Page 1 of 3 4/10/2008



V/7i1i

Products with multiple versions are listed in subsiding order with the newest version on top not indented

/ |

4 A A A

Parts Breakdown

Tl
+H

(.OOO\ICDU'I-PQJI\)—\)D

AR DDNOOWWWW®W WWWWNNDN NNNNNDDN NN =2 a = = =2 ©

1001
1002
1002
1003
1003
1003

Part ID
182945-5
859072-0
265995-6
416079-5
689070-8
911006-2
911143-2
263024-9
650540-4
651939-6
650540-4
651939-6
687085-9
654168-0
654168-0
654169-8
654169-8
253052-2
256253-1
226340-0
323731-7
233205-9
267175-0
216001-0
322999-2
324267-9
324267-9
322754-2
216001-0
261108-7
152570-6
265999-8
324420-7
322434-0
233005-7
267085-1
231951-8
211101-1
152575-6
416400-8
629763-5
629717-2
216011-7
226340-0
256253-1
192598-2
191966-6
643933-2
263024-9
266177-3
182945-5
819063-3
343579-1
414938-7
414938-7
183763-4
824635-1
824635-1

Part Name
HOUSING SET, 6914DWAE
NAME PLATE, 6914D
TAPPING SCREW 4X18, 4323K
F/R CHANGE LEVER, 6233DWA
HEAT SINK, 6908DWA
P.H. SCREW M3X8, 6233DWAE
P.H. SCREW M4X22, 6211D
RUBBER PIN 4, 6918DWD
SWITCH, 6914D
SWITCH, 6233DWA
SWITCH, 6914D
SWITCH, 6233DWA
HOLDER, 6233DWA
SPRING TERMINAL (+), 6233DWA
SPRING TERMINAL (+), 6233DWA
SPRING TERMINAL (-), 6233DWA
SPRING TERMINAL (-), 6233DWA
F. WASHER 12, 9031
PIN 5, 6908DWA
SPUR GEAR 18, 6914DWA
SPINDLE, 6914DWA
COMPRESSION SPRING 24, 6914DWA
FLAT WASHER 24, 6914DWA
STEEL BALL 3.5, 6800DBV
HAMMER, 6914DWA
ANVIL, 6908DWA
ANVIL, 6908DWA
ANVIL, 6913D
STEEL BALL 3.5, 6800DBV
NYLON WASHER 14, 6908DWA
HAMMER CASE COMPLETE, 6914DWA
TAPPING SCREW M4X25, HM1800
SLEEVE, 6903VDW
SLEEVE, 6903VDW-T1
COMP.SPRING 13,6903VDW
FLAT WASHER 12, 6903VDW
RING SPRING 11, 6903VDW
BALL BEARING 6001LLB,9218PB
INTERNAL GEAR CASE CPL., 6914DWA
PLATE, 6914DWA
DC MOTOR, 6914DWA
DC MOTOR, 6914DWA
STEEL BALL 5.6, 6222DWE
SPUR GEAR 18, 6914DWA
PIN 5, 6908DWA
BATTERY 1222, 12VDC 2.0AH,6213DWAE
CARBON BRUSH CB-424, 6908DWA
HOLDER CAP, 6908DWA
RUBBER PIN 4, 6918DWD
HEX. SOCKET HEAD BOLT M3X10, 4323
HOUSING SET, 6914DWAE
MAKITA LABEL, 6992DWDE
SET PLATE, 6211D
BATTERY COVER, 6222DWE
BATTERY COVER, 6222DWE
PLASTIC TOOL CASE, 6217DWDE
PLASTIC TOOL CASE,6227D,6991DWDE
PLASTIC TOOL CASE,6227D,6991DWDE

Page 2 of 3

Quantity

RN G O NN

= A N

S A A a N -

R\ N QUL G (L G

AN A A AW AN anN

-

6914D

4/10/2008



V/7l1h,dbds

1003 824635-1
1003 824489-6
1003 824489-6
5002 192598-2

Parts Breakdown

PLASTIC TOOL CASE,6227D,6991DWDE
PLASTIC CARRYING CASE, 6908DWA-T1
PLASTIC CARRYING CASE, 6908DWA-T1
BATTERY 1222, 12VDC 2.0AH,6213DWAE

Page 3 of 3

6914D

4/10/2008



